mathrm a'N

mathrm d p_ mathr

=
N
o

m d lambda
T T =
(@)) 00 )
o o o

N
o

N
o

mathrm d N / mathrm d p

p)

N

Ratio to CMS
[N

0.5

x18900 GeV pp
= T T

] T T L — _E%
Thrust A_2" (charged only) (CMS jet substructure) 13
=
m CMS — :l
| —A— Pythia 6.428 370 —In
T A+ Pythia 6.428 373 | 8
| --O-- Pythia 6.428 374 | ;
Pythia 6.428 375 <
L i s
- Pythia 6.428 381 z
. --¥-- Pythia 6.428 382 |
N =
- 1z
B ~H
i il
e BE
k
v iE
1 i
o e
B — O
% =
B T o
B O
[%2]
l 2:, 2k
A o
u | s
3 =P
1
B —05
L N |
0 0.5 1

thrust (charged-only)



	Contents
	Page 1


